CHM151 Quiz8 25Pts Spring 2013 Name: )< @—%

1. (4 Pts) Draw a Lewis dot structure for the N, molecule that obeys the octet rule.
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2. (5 Pts) Estimate the enthalpy change for the reaction 2CO + O, — 2CO, given the following bond
energies.

BE(C=0)=1074k/mol 2 CEO + Oy 7 2 U=C=0;
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3. (4 Pts) Draw a Lewis dot structure that satisfies the octet rule and determine the formal charge of each
atom for N,O (the atomic order is N-N-O)
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4. (4 Pts) Write a Lewis structure for the nitrate ion, NO3~, that obeys the octet rule and show all formal
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5. (4 Pts) Draw all the resonance structures for the sulfur dioxide molecule that satisfy the octet rule.
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6. (4 Pts) The total number of valence electrons in the molecule P,Os is L/ 0 and the total number of
) O
valence electrons in NH4NOj is al + 30
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